Efficiency vs dr

x 0.8
<
2 07
>
)
G 0.6
)
T 05
0.4F -1
0.3[-§ -
0.2
0. il
o ¢B -mhhn{-;-u n
= —=— DQM_TT__original
&U —e— DQM_TT__originalCustomized
%= DQM_TT__nocutCustomized
053 [ T SR M
10 1072 107"

[ Efficiency vs dr (track,jet) |

1
TP min AR

EO.OS
d0.045
£
o
<l0.04
9.035
3
=0.03
Q
359.025
3]
0.02
0.015
0.0
0.005
Vel

Ratio
N

0.95

1072

=
S
w

Efficiency vs pu

1
AR(TP, jét)

-1

) C
O
©0.09F -4+
>,

o
o
w
A L SRR RN R R ARl AR LRRRNLRRRE AR

| W

—
it apead—

0810 20 30 40 50 60 70 80 90 100

Pileup




	Contents
	Page 1


